Calculus 3 Test 1 — Spring 2011

NAME HEY STUDENT NUMBER

SHOW ALL WORK!!! Partial credit will only be given for answers which are partially correct!
Be clear and convince me that you understand what is going on. Communicate with me; write
words! Use equal signs when things are equal (and don’t use them when things are not equal). Be
sure to include all necessary symbols, such as equal signs. If applicable, put your answer in the box
provided. Each numbered problem is worth 12 points and the bonus problem is worth 12 points.
Put your calculators away!!! This is a math test!!!

1. Consider the parametric equations z = sec?(t)—1, y = tant, t € (—w/2,n/2). Identify the curve
5 gbf by finding a Cartesian equation for it. Graph the Cartesian equation.
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3. Plot the point in polar coordinates (r, ) = (— 3 m/4). Find all polar coordinate representations
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4. Sketch the curve r == —1 + cos 6. HINT Graph y = —1 + cosz in rectangular coordinates and
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6. _Consider the conic section 8y* — 2z* = 16. Put the conic in standard form, graph the conic, any

[{66 Y asymptotes, vertices, and foci.
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standard-form equation in Cartesian coordinates.
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J 8. Show that the point P(3,1,2) is eqmdlstant from the points A(2 —1 3) and B(4,3,1).
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Bonus. Suppose the parametric curve x = cost, y = 2+ sint for ¢ € [0, 2x] is revolved about the

,gg(fwg z-axis. What is the resulting surface area?
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